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M. A. (First Semester) 
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HISTORY 

(Compulsory) 

Paper Second 

¼vk/kqfud fo’o½ 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- mnkjokn dh ‘kq#vkr fdl ns’k esa gqbZ \ 

¼v½ teZuh 
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¼c½ :l 

¼l½ Ýkal 

¼n½ baXyS.M 

In which country did liberalism begin ? 

(a) Germany  

(b) Russia 

(c) France 

(d) England 

2- dekMksj iSjh fdl o”kZ tkiku vk, Fks \ 

¼v½ 1851 

¼c½ 1852 

¼l½ 1853 

¼n½ 1854 

In which year Commodore Parry did come to Japan ? 

(a) 1851 

(b) 1852 

(c) 1853 

(d) 1854 

3- 1905 esa vÝhdk ds fdl {ks= dks ysdj Ýkal vkSj teZuh ds e/; 

ruko mRiUu gqvk \ 

¼v½ lksekyhyS.M 

¼c½ Q’kksnk 

¼l½ ;qxkaMk 

¼n½ eksjDdks 
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In 1905 tensions arose between France and Germany over 

which region of Africa ? 

(a) Somaliland  

(b) Fasoda 

(c) Uganda 

(d) Morocco 

4- csfYt;e ds lkezkT;oknh vfHk;ku dk usrk dkSu Fkk \ 

¼v½ LVsuyh 

¼c½ fy;ksiksYM 

¼l½ xzkaV 

¼n½ LVksd 

Who was the leader of the Belgium imperialist campaign ? 

(a) Stanly 

(b) Leopold 

(c) Grant 

(d) Stok 

5- ^jDr ,oa ykSg dh uhfr* fdlus viukbZ \ 

¼v½ fgVyj 

¼c½ eqlksfyuh 

¼l½ fcLekdZ 

¼n½ xSjhckYMh 

Who adopted the policy of Blood and Iron ? 

(a) Hitler  

(b) Mussolini 

(c) Bismarck 

(d) Garibaldy 
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6- Ýkal&iz’kk ;q) 1870 dk rkRdkfyd dkj.k D;k Fkk \ 

¼v½ cfyZurkj 

¼c½ isfjlrkj 

¼l½ feykurkj 

¼n½ ,Elrkj 

What was the immediate cause of France-Prussia war 1870 ? 

(a) Berlin Tar 

(b) Paris Tar 

(c) Milan Tar 

(d) Ams Tar 

7- ^fo’o jktuhfr* fdl ‘kkld dk mís’; Fkk \ 

¼v½ dSlj fofy;e II 

¼c½ fudksyl II 

¼l½ fcLekdZ  

¼n½ esVjfu[k 

Which ruler was the object of „World Political‟ ? 

(a) Kaiser William II 

(b) Nicholas II 

(c) Bismarck 

(d) Metternich 

8- cfyZu dkaxzsl dk v/;{k dkSu Fkk \ 

¼v½ dSljys  

¼c½ esVjfu[k 

¼l½ foYlu 

¼n½ fcLekdZ 
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Who was the president of the Berlin Congress ? 

(a) Castlereigh 

(b) Metternich 

(c) Wilson 

(d) Bismarck 

9- ;qok rqdZ vkUnksyu dk usrk dkSu Fkk \ 

¼v½ vgenjtk 

¼c½ fu;kth csx 

¼l½ lqYrku csx 

¼n½ vCnqy gehn 

Who was the leader of the Young-Turk-Movement ? 

(a) Ahmed Raza 

(b) Niyazi Beg 

(c) Sultan Beg 

(d) Abdul Hamid 

10- f}rh; ckYdku ;q) dh lekfIr fdl laf/k ls gqbZ \ 

¼v½ yanu laf/k 

¼c½ lsu&LVhfQuks laf/k 

¼l½ isfjl laf/k 

¼n½ cq[kkjsLV dh laf/k 

With which treaty did the second Balkan war end ? 

(a) Treaty of London 

(b) Treaty of San-Stefino 

(c) Treaty of Paris 

(d) Treaty of Bukharest 
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11- izFke fo’o;q) dc lekIr gqvk \ 

¼v½ uoEcj 1917 

¼c½ fnlEcj 1917 

¼l½ uoEcj 1918 

¼n½ uoEcj 1919 

When did the first world war end ? 

(a) November 1917 

(b) December 1917 

(c) November 1918 

(d) November 1919 

12- ^;g lfU/k ugha 20 o”kZ ds fy, ;q) fojke gSA* fdlus dgk \ 

¼v½ yk;M tktZ 

¼c½ ek’kZy Qk’k 

¼l½ esftuh 

¼n½ esfj,V 

“This is not a treaty, it is ceasefire for 20 year.” Who said ? 

(a) Llyod George  

(b) Marshal Fouch 

(c) Mazzini 

(d) Marriot 

13- jkT; lektokn dk tud dkSu Fkk \ 

¼v½ yqbZ CykWd  

¼c½ ekDlZ 

¼l½ jkWcVZ vksou 

¼n½ VkWel isu 
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Who was the father of state socialism ? 

(a) Lui Block 

(b) Marx 

(c) Robert  

(d) Thomas Paine 

14- 1917 dh :lh ØkfUr ds le; ‘kkld dkSu Fkk \ 

¼v½ vysDtsaMj izFke 

¼c½ vysDtsaMj r`rh; 

¼l½ fudksyl izFke 

¼n½ fudksyl f}rh; 

Who was the ruler during the Russian Revolution of 1917 ? 

(a) Alexander I 

(b) Alexander III 

(c) Nicholas I 

(d) Nicholas II 

15- jk”Vªla?k vfLrRo esa dc vk;k \ 

¼v½ fnlEcj 1919 

¼c½ tuojh 1920 

¼l½ tuojh 1921 

¼n½ tuojh 1922 

When did the League of Nations come into existence ? 

(a) December 1919 

(b) January 1920 

(c) January 1921 

(d) January 1922 
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16- la;qDr jk”Vª vesfjdk jk”Vªla?k dk lnL; D;ksa ugha Fkk \ 

¼v½ baXyS.M dk fojks/k 

¼c½ :l dk fojks/k 

¼l½ Ýkal dk fojks/k 

¼n½ vesfjdk lhusV dk fojks/k 

Why was the United States not a member of the League of 

Nations ? 

(a) Opposing England 

(b) Opposing Russia 

(c) Opposing France 

(d) Opposing American Senate 

17- fo’o vkfFkZd eanh dh ‘kq#vkr dc gqbZ \ 

¼v½ 1928 

¼c½ 1929 

¼l½ 1930 

¼n½ 1931 

When did the world economic slowdown begin ? 

(a) 1928 

(b) 1929 

(c) 1930 

(d) 1931 

18- ^U;w Mhy* dh uhfr fdldh Fkh \ 

¼v½ tsQjlu 

¼c½ dsusMh 

¼l½ :tosYV 

¼n½ foYlu 
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Whose policy was „New Deal‟ ? 

(a) Jefferson  

(b) Kennedy 

(c) Roosevelt 

(d) Wilson 

19- jkLiqfVu dkSu Fkk \ 

¼v½ jktiqjksfgr  

¼c½ rkfU=d lk/kq 

¼l½ lsukifr 

¼n½ jktk 

Who was Rasputin ? 

(a) Rajpurohit 

(b) Tantric Monk 

(c) Commander 

(d) King 

20- izFke fo’o;q) esa ckYdu {ks= ds fdl jkt; us teZuh dk lkFk  

fn;k \ 

¼v½ cksfLu;k 

¼c½ ;wuku 

¼l½ cYxkfj;k 

¼n½ :ekfu;k 

Which state of the Balkan region supported Germany in the 

first world war ? 

(a) Bosnia 

(b) Unan 

(c) Bulgaria 

(d) Rumania 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 20 ‘kCnksa esa nhft,A 

 Attempt all questions in 20 words. 

1- iw¡thokn D;k gS \ 

What is capitalism ? 

2- dSlj fofy;e dh fons’k uhfr ds mís’; crkb,A 

State the objectives of foreign policy of Kaiser William. 

3- ;qok rqdZ vkUnksyu ds mís’; D;k Fks \ 

What was the purpose of the Young Turk Movement ? 

4- lektokn dk tud fdls dgk tkrk gS \ 

Who is the called the father of socialism ? 

5- varjkZ”Vªh; etnwj la?k dk laxBu dgk¡ Fkk \ 

Where was the organization of the International Labour 

Union ? 

6- izFke fo’o;q) esa vesfjdk us D;ksa izos’k fd;k \ 

Why did America enter world war ? 

7- 1917 dh :lh ØkfUr dk rkRdkfyd dkj.k D;k Fkk \ 

What was the immediate cause of the Russian Revolution of 

1917 ? 

8- lektokn dk mís’; crkb,A 

Explain the purpose of socialism. 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- Ýkal esa lektokn ds mn; ij ys[k fyf[k,A 

Write an article on rise of socialism in France. 

2- baXyS.M esa mnkjokn ds fodflr gksus ds dkj.k crkb,A 

Give reasons for the development of Liberalism in England. 

3- cfyZu dkaxszl dh /kkjk,¡ dkSu&dkSu lh Fkha \ 

What were the sections of the Berlin Congress ? 

4- izFke fo’o;q) ds izeq[k ifj.kke D;k Fks \ 

What were the major results of the first world war ? 

5- fo’o vkfFkZd eanh dk izHkko crkb,A 

State the effect of world economic recession. 

6- jk”Vªla?k ds izeq[k dk;ks± dk mYys[k dhft,A 

Mention the major functions of the League of Nations. 

7- iw¡thokn dh fo’ks”krkvksa dh leh{kk dhft,A 

Review the characteristics of capitalism. 

8- 1907 dh vkaXy&:l laf/k dh leh{kk dhft,A 

Review the Anglo-Russia Treaty of 1907. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt all questions in about 150 words. 

1- fcLekdZ dh x`guhfr dh vkykspukRed O;k[;k dhft,A 

Critically analyze the home policy of Bismarck. 

2- ckYdku ;q)ksa ds dkj.kksa dk o.kZu dhft,A 

Describe the reasons for the Balkan-war. 

3- 1917 dh :lh ØkfUr ds dkj.kksa ij izdk’k Mkfy,A 

Throw light on causes of 1917 Russian Revolution. 

4- jk”Vªla?k dh vlQyrk ds dkj.kksa dk ewY;kadu dhft,A 

Evaluate the reasons for the failure of the United Nations. 
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